Section 1.1 p. 7: #5, 6, 8, 10-14
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What 1s the vertex of 4 ToS O

How many angles have vertex R. 3 P R
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e. How many tviang\es are there in the ﬁgure.

#2 a. A line 1S made up of points
b. An angl€ 1 the union of two Rays  with a common endpoint

a rectangle with svdes 25 cm and pooerm
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b. uUx+3x +2X =63
dx =63 HT = Y(3F)
x=% -lz% X .S
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#12 Draw a diagram in which ’A_ﬁ N 'c",f =cB
A c =] D
o 8- — 0

#(3 Draw a diagram in which the intersection of 4 AEF and X DPC ¢ ‘E—D?

#I4 . what percentage of O's in the E T
diagram have CT as a side?

A : AEAX D EXT
D XAC * 5 TCX 3y = 31.8%
x ACAT A EXC X c
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b- what p&muﬂag& have 7\—0 as a S\‘d&?

a/g = 3'570



